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Which statement is true regarding the submitted program?

A. The descending option applies to the variable CODE.

B. The PSORT data set is stored in the SASUSER library.

C. The variable CODE is sorted by ascending order.

D. The descending option applies to the DATE and COST variables.

Correct Answer: C

QUESTION 7
Which statement will create a report footnote that identifies the date and time that the SAS
program was executed?

A. footnote1 = "Created on &sysdate9 &systime";
B. footnote1 "Created on &sysdate9 &systime";
C. footnote1 = 'Created on &sysdate9 &systime';
D. footnote1 'Created on &sysdate9 &systime';

Correct Answer: B

QUESTION 8
This question will ask you to provide lines of missing code.

<ihsert code herex

proc print data=work.AE;
run:

<insert code herex

Which ODS statements, inserted respectively in the two locations indicated above, create a report
stored in a PDF file?

A. ods pdf open='AE.pdf'
ods pdf close;
B. ods file pdf="AE.pdf';
ods file close;
C. ods file open="AE.pdf' type=pdf;
ods file close;
D. ods pdf file="AE.pdf'
ods pdf close;
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Correct Answer: D

QUESTION 9
What is an international ethical and scientific quality standard for designing, conducting, recording
and reporting trials that involve the participation of human subjects?

A. 21 CFRPart 11

B. WHODrug
C. Good Clinical Practices
D. MedDRA

Correct Answer: C

QUESTION 10
The following SAS program is submitted:

data WORK.DIGESTL
array Chaervell:
Tun;

H
§ 8 ('appendicitia’,'diverticulosts', ‘gastroenteritia’);

What is the value of the second variable in the data set WORK.DIGESTL?

A. amissing value

B. No variables are created.
C. divertic

D. diverticulosis

Correct Answer: C

QUESTION 11
The following output is displayed:

Table of CENLEF by MNSUVER

CENTER JIEVEFR

Fregquencyi 1| Z | g Toral
--------- et e R T R
1 iz | 22 | 5.5 9

- o e e T

Z | g2 | B | 3 33
———————— d= = —— e s ———————
Total 34 30 B 72

Frequency Nizsing = 4

Which SAS program created this output?

A. proc freq data=WORK.TESTDATA;
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tables gender * answer / nocol norow nopercent missing; run;
B. proc freq data=WORK.TESTDATA,;

tables answer * gender / nocol norow nopercent missing; run;
C. proc freq data=WORK.TESTDATA,;

tables gender * answer / nocol norow nopercent;

run;
D. proc freq data=WORK.TESTDATA,;

tables answer * gender / nocol norow nopercent;

run;

Correct Answer: C

QUESTION 12
Which statement correctly adds a label to the data set?

A. DATA two Label="Subjects having duplicate observations"; set one;
run;
B. DATA two;
Label="Subjects having duplicate observations";
set one;
run;
C. DATA two(Label="Subjects having duplicate observations"); set one;
run;
D. DATA two;
set one;
Label dataset="Subjects having duplicate observations"; run;

Correct Answer: C

QUESTION 13

Which statement assigns the current date to the character variable CURRDT?
A. currdt="%sysdate.";

B. currdt="sysdate.";

C. currdt="&sysdate.";

D. currdt="#sysdate.";

Correct Answer: C

QUESTION 14
Given the following output from the TTEST Procedure: Variable:
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Varilable: [Lastgluc

" Mean Sed Dev Ztd Erc Minimuem M Ll
] T.6517 O, 585 0.2041 £.9500 8.31700
Nean 953 CL  Mean Scd Dev 5% CL Std Dev
7.6517 7.1270  8.1763 0, 9%5% 0.3121 1.2262
OF t Value Pr » |T|
& .49 <, 0001

What is the t-test p-value?

A. 0.2041
B. 37.49

C. 0.3121
D. <.0001

Correct Answer: D

QUESTION 15

The purpose of the ADaM model is to provide a framework that:
A. enables the creation of study patient profiles

B. enables the statistical analysis of the data

C. enables the tabulation of the raw source data

D. can be used to generate the CDISC ODM

Correct Answer: B

QUESTION 16
The following SAS program is submitted.
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darns as;
rnpur PTHCG AESGT § d=32 LEFT 5 314=54 CNTRELT 3:
cErds
001 Cardiac dizordercs Cardisc arceat
2002 Infections and infe=taclons Ewmpiyema
2002 Hepatohiliary dizsorders Hepatic failure
<002 Infections and infestations Leptospiccosis
1003 Nervous system cdizcrders Cerebral hemorrhage
2004 Cardiac disordecs Cardiac arrest
2004 Cardiac disorders htrciml fibrillation
2006 Infections and infestaticonz Wound infection
2007 Fenal and urinary di=zorderzs Benal talure
2007 Gagtrointestinal disorders  PanireaTtitils soute
007 Sastrointestinal dizorders Gascric ulcer
008 Vascular disorders Hyporension
008 Infectionz and infestarclons Sepzls

2010 Cardiaec disorders Cardlac Arrest

2010 Kenal and urinary disorders Renal Tallure asurte
¢0131 Sogial CIlrcumetances Homicids

.

proc freg data=WORE. BE noprinn:

whers ontreat="y": cables asscc / OUL=WORE.FREQL:

Lunz

proc prant data=EORE.FBEQ] noobs:

where aegoc="Cardisac disccdera':
YEar count;

Cuna

What result is displayed for the variable COUNT?

oo w»
NWHS-

Correct Answer: C

QUESTION 17
This question will ask you to provide lines of missing code.

Given the following SCORE data set:
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